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e Share the sweets between the party bags.
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o Here are some counters. . . . . .

There are \5 sweets.

D|V|de by 5
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There are S party bags.

a) Draw circles around groups of 5

&

There are 3 sweets in each bag.

b) Complete the sentences. 15 = S - 3

There are 30 counters.

There are S counters in each group.

9 Complete the number sentences for each array. Zl/

There are| & | groups. a)
(XXX X) Ll x 5 =20
30:5=| b5 (X X X X/
oo0600 20+5=| [
(X X XX |
[ |x5=30
b)
(X X X X X X J e Complete the divisions. ﬁ
ee00000 X *°= LO &
000000 a 15:+5=| 2 @ | 35 |+5=7
(X X X X X X J +5=
(X X X XXX ) 40 8
b) 25 +5=| 5 | 55 |+5="
oDroquarraytoshowthat10+5=2 @ 95052 [0 0| Lo|ss=8
Qo d60:5=| [ h | - [+5=0
0|0
0|0
O O o Annie buys 5 lollipops. @
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o A boat can fit 5 people. This costs her 50p.

Work out how many boats are needed for How much do 2 lollipops cost?
45 people.

Lx5+5=cf J0o) |p

q boats are needed.
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